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QUESTION 1

Which DB2 object is associated with PREVIOUS VALUE and NEXT VALUE expressions? 

A. Sequence 

B. Row Identifier 

C. Identity Column 

D. Insert time clustering table 

Correct Answer: A 

 

QUESTION 2

A multi-partition database environment using BLU acceleration is designed to meet which of the following requirements?
(Choose two.) 

A. Easy scalability 

B. Management of very large data sets 

C. Continuously available dataset solution 

D. Increased throughput of many concurrent short running queries 

E. Faster response time of long-running or complex queries with I/O spread across many computers 

Correct Answer: BE 

 

 

QUESTION 3

What type of function is created using the following command? CREATE FUNCTION TAN (X DOUBLE) RETURNS
DOUBLE LANGUAGE SQL CONTAINS SQL NO EXTERNAL ACTION DETERMINISTIC RETURN SIN(X)/COS(X) 

A. Row 

B. Table 

C. Scalar 

D. External 

Correct Answer: C 

 

QUESTION 4
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Consider the following SQL statement: 

SELECT workdept, empno, lastname, salary, 

RANK() OVER (PARTITION BY workdept ORDER BY salary) AS rank_salary 

FROM employee 

ORDER BY workdept, lastname 

What does the RANK() OVER (PARTITION BY workdept ORDER BY salary) clause do? 

A. It ranks the rows in each WORKDEPT by SALARY. 

B. It groups all rows by WORKDEPT, then ranks all rows in the complete result set by SALARY. 

C. It generates a blank output line after each group of rows with the same WORKDEPT, and ranks these groups by
SALARY. 

D. It tells the optimizer to physically partition the EMPLOYEE table by the WORKDEPT column for runtime execution,
and ranks each WORKDEPT by SALARY. 

Correct Answer: B 

 

 

QUESTION 5

Which edition of DB2 LUW has been discontinued in v11.1? 

A. DB2 Developer Edition 

B. DB2 Express Server Edition 

C. DB2 Enterprise Server Edition 

D. DB2 Connect Enterprise Server Edition 

Correct Answer: B 
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